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page 156: example 7

1. The matrix

[
3 0
0 2

]
is similar to the matrix

[
2 0
0 2

]
.

2. If

[
3 0
0 1

]
is similar

[
2 1
0 1

]
then

[
4 0
0 1

]
is similar to

[
4 2
0 1

]
.

3. Suppose A = SBS→1 where A =

[
2 0
0 2

]
. What is B?

Section 3.4 Coordinates (Part 2)

The coordinate vector

P 1. Write down what it means for two matrices to be similar.

P 2. If A is similar to the identity matrix what can you say about A?

P 3. Let

A =

[
2 0
0 3

]
and B =

[
2 1
0 3

]
.

Find an invertible matrix S such that AS = SB.

P 4. Suppose

[
1 2
4 3

]
= S

[
5 0
0 →1

]
S→1. Find a matrix C which is similar to

[
9 8
16 17

]
.
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That let T R an be a LT such that T x ̅ AP

Let B be a β matrix of T Then

AS SB where s w̅

β in In this case we say A is

similar to B

Ex Are the matrices A and B

similar
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A and B are similar

E show that if A is similar to B then

At is similar to Bt for all positive integer

Let t be a positive integer Since A is similar to B

there exists an invertible s suchthat AS S B Hence

ASE SBS

A SBS

At SBS
1 sBSEp.sni.tEsc

SB.B BS
I

Itimes
s Bt g 1

Ats SBt At is similar to Bt


